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( English Version )

Instructions i} The question paper has four Parts.
\ ii) Parts A, B, C and D are common to all the candidates.

iijj Part A carries 10 marks. Each question carries one mark.
Part B carries 20 marks. Each question carries two marks.

Part C carries 40 marks. Each question carries five marks.
In Part D — D ; carries 10 marks and D , carries

10 marks. Each question of D, carries five marks.

iv) Write balanced chemical equations and draw diagrams

wherever necessary.

PART - A
Note: 1 - Answer all the 10 questions.

ii) Questions have to be answered in one word or in one

sentence each. Each question carries one mark.

10x1=10

1. Define partition coefficient.
2. Why are transition metal compounds coloured ?

3. How are antibonding molecular orbitals formed ?
4. How many faradays are required to liberate 224 cm 3 of H , from acidified
water at STP ?

5. What is meant by relative lowering of vapour pressure ?

6. What happens to change in entropy when water is converted into ice ?
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7.

10.

11.

12.

13.

14.

15.

16.

17.

Between CaSO , and Ca, ( PO, ), which one is required in maximum

concentration to coagulate positive sol ?

What type of mesomeric effect is exhibited by - NO, group ?

Write the IUPAC name of picric acid.

Name the chemical reagent used to remove colloidal impurities from oil.

PART - B
Note: 1 Answer any ten questions.

i) Each question carries two marks. - 10x2 =20

What is conjugate acid-base pair ? Give one example.

How does concentrated H 550 , rcact with PCl 5 ?

With the help of Ellingham diagram, explain why Al can reduce MgO at

high temperature.
Define order of reaction. Give one example for fraction order reaction.

How are He and Ar separated from nobfe gas mixture by Dewar’s charcoal

adsorption method ?

~The vapour pressure of ether ( mol. mass = 74 } is 60 kPa at 293 K. If 3g

of a compound A is dissolved in 50 g of ether at this temperature, the

vapour pressure falls to 56-8 kPa. Calculate molecular mass of A.

Explain the formation of delta when a river meets sea.




18.

19.

20.
21.

22.

11 . Code No. 34

Write the mechanism involved in the reaction between tertbutyl bromide

and aqueous KOH.

Identify A and B in the following reactions :

heat

A+Br2+KOH(aq) — B

heat

B+ HNO, ——— CH ,OH

Write Gibbs equation and ekplain the term involved.

How is phenol co/nverted into salicyl aldehyde ?

What type of glyceride is tripalmitin ? What happens when it is boiled with

aqueous NaOH ?

PART-- C
Answer any two of the following questions : 2x5=10
23. a) Draw a neat diagram of blast furnace and describe the reaction
that occurs during the éxtraction of cast iron in furnace at
i)y 600°C
.ii) 900°C - 1000°C. ' 3
b) With the help of electron sea model explain lustrous property of
metal. ‘ | - 2
24. a With the help of VBT explain the geometry of K, [ Fe (CN) 6 ]
and i)redict its magnetic property. 4
b) Name theumost abundant noble gas found in air. 1

-
-
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II.

12

25. a  Write energy level diagram for Li o molecule and calculate the

bond order. Predict its stability.

How is angle strain related to stability of cycloalkane ?

2 .

2

3
b) Why do 3d elements exhibft variable oxidation state ?
* Answer any three of the following questions : 3x5=15
26. a) Discﬁss the mechanism of alkylation of behzene. 3
b) How is ethanol converted into iodoethane ? 2
27. a What happens when aniline is heated with chloroform and
alcoholic potash ? Write equation. 2
b)  Give one method for the preparation of ketone from alcohol. 2
c) Why is benzene stable ? 1
28. a) How are following obtained ?
1 Cinnamic acid from benzaldéhyde. C 2
i)  Acetyl chloride from acet#c acid. 2
b)  What type of electfonic effect is shown by‘H P 1
29. a) Explain peptide bond formation between two alanine
molecules.
b) How do 'you show the presence of following in glucose
molecule ?
) Unbranched skeleton of six carbon atoms. 1
ii) Carbongrl group. 1
c) 1
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III. Answer any three of the followihg questions : 3x5=15

30. a)

b)

31. a)

b)

32. a)

b)

c)

Derive an expression giving the relationship between solubility

product and solubility of sparingly soluble A o B type salt: Give

one example for such a salt. 3

The equilibrium constant K o for the reaction A+ B = C+ D

is 8-25 at 27°C. Calculate the standard free-energy change of

reaction at the same temperature. 2

What is peptising agent ? How is ferric hydroxide sol

prepared ? ‘ 2

Half of a first order reaction - completes in 15 minutes. What

per cent of reactant reacts after 40 minutes ? 3

Mention the factors which affect the order Qf a reaction. . 2
Caiculate pH of 0:025 M KOH solution. 2
Draw the unit cell of CsCl. ‘ ‘ ‘ | 1
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IV,

33. a) Write any three demerits of Arrhenius theory of electrolytic

dissociation. : ' 3

b) Write any two differences between ideal and non-ideal

solutions. 2

34. a) With graphical representation explain the effect of température
on the rate of reaction. : 3

b) Calculate number of particles per unit cell for face-centred

cube. ' v 2

PART - D
D,

Answer any one of the following : 1x10=10

35. a) Explain the manufacture of potassium dichromate from chromite

ore. | ‘ 4

b) What happens when acetaldehyde is heated with dilute NaOH

solution ? Write equation. ( ' 2

c¢) How many secondary — OH groups are present in a molecule of

glucose ? 1

d) Explain the buffer action of NH ,Cl and NH ,OH. 3

14
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36. a Mention four postulates of Werner's theory of co-ordination
compounds. 4

b) Explain stereoisomerism in maleic acid and fumaric acid. 2

c¢) Give one example for amino acid containing sulphur. 1

d) With neat labelled diagram explain the construction and working

of SHE. ' 3

D,

Answer any two of the following : ' | 2x5=10
37. a) How is p-bromoacetanilide prepared from acetanilide ? 3
b) Give a test for ketose. 2

38. Describe an experiment to show that acidhydroiysis of methyl

acetate is a first order reaction. 5

39. For estimation of KMnO , using standard oxalic acid solution,

i)

ii)

i)

write the chemical equation for the reaction involved. . 2
give equivalent mass of KMnO , . : 1

name the indicator used. 1

iv) what is the colour change at the end point ? 1




